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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15
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P3-15_0, Day=73 (2025-06-12)
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42.0 4 42.14
42.0
41.5 -
41.9 1
T T T T T T T T T T T T
925 926 927 928 929 930 998.0 998.2 998.4 998.6 998.8 999.0

m m
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P3-15

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

06:55 283 150.0 2. 888 RS {Ri%e06:55 Bz (REAERSE)
07:30 283 150.0 2. 888 sl {Ri&e07:30 Bal (REERHE)
08:30 283 150.0 2.888 RS {RRi%e08:30 B (REAERHEE)
09:15 283 150.0 2. 888 RS {Ri8e09:15 Bz (REERSE)
09:55 283 150.0 2.888 S| 1Ri&e09:55 Bah (REEESE)
10:35 283 150.0 2.888 RSl {Ri&@10:35 BHal (REAEHE)
11:15 283 150.0 2. 888 e Rige11:15 Bz (REAERSE)
11:50 283 150.0 2.888 el Rige11:50 Ba) (REERESE)
12:20 283 150.0 2.888 Bl Rige12:20 Bz (REAEHSE)
12:50 283 150.0 2. 888 RS Ri&e12:50 Bzl (REAERSE)
13:20 283 150.0 2.888 | Ri%@13:20 Bz (REERESE)
13:50 283 150.0 2.888 el Rige13:50 Ba (REAEHSE)
14:20 283 150.0 2.888 B Rige14:20 Bz (REAERE)
14:50 283 150.0 2.888 S| Ri%e14:50 Bz (REERSR)
15:20 283 150.0 2.888 el Rige15:20 Ba (REAEHSE)
15:55 283 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:35 283 150.0 2. 888 e {Rige16:35 Bzt (REAEHSE)
17:30 283 150. 0 2.888 5| {Ri1%e17:30 B3h (RBfERKSE)
24it]5094.0 (18%%) 2700. 0 3EHKEC: 2190, PH: 5.6

FEREHEME STEAERST (184.0 : 147.0), AIEEAT—@E XAHE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (210:12.0), set to 210 ml.
WEEY S R EPH 5.6, HTHEYAZIFENEREPH, 5FohiEAE

[E;&EC 5667.0 Kis, EiNFA{RKECAERAIEER

#E[ERECE (1847.0 vs 5667.0) 35

RIS R REC 2194.0



ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=72 (2025-06-11)

T e g g e S S B S g

VI,Vgnﬁﬁv,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

100 42200 067

50

20 Warning: lcol ['FVI',| "FVO'] missing

- 3000

- 2000

- 1000

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2743. 0, setECB=2190

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

600 4By Init @74 11:56: ET=3714 Fg=3600.0 Ro=152. 0
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200 ByWoFv @D74 11:56: ET=2287 Fg=2700.0 Ro=582.0

A_____

200 -

- 4000

- 2000
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[ ] RH_obs
20 - [ ) RHo_obs

VPD

FRV (ml plant-1)

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



28 —o— ME
T T T T
400 600 800 1000
m=555,m FV0=0
—o— ME
34 -
33 -
32 -
T T T
555 560 565
m=695,m FV0=0
—o— ME
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33 -
32 -
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34.5
—o— ME
34.0
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33.0
32.5
32.0
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31.

m=440, FV0=0

32 -

31 -
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T T
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m=595,m FV0=0
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32 -

T T
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33 -
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730 735

m=850,m FV0=0

0_
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31.

m=470, FV0=0
34 -
33
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34
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630 635 640
m=755,m FV0=0
34
33
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5 -
0 -
5 -
0 -
5 -
0 -
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m=510, FV0=0
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5%5 5&0
m=665,n FV0=0
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32 -

31 -
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m=785,n FV0=0
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32 -

31 -
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m=890, FV0=0
42.0 1 —— MW
41.5
41.0 A
40.5
40.0
T T T
890 895 900

m=930, FV0=0

42.5 A
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P3-15

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:00 283 150. 0 2.888 sl {Ri&e07:00 Bal (REAERHE)
07:35 283 150.0 2.888 RS {RRi&e07:35 Bl (REAEHE)
08:10 283 150.0 2. 888 BE| 1Ri%e08:10 Bz (RF{EREE)
08:45 283 150.0 2.888 s {Ri&e08:45 B (REAEEE)
09:30 283 150.0 2.888 RS {Ri%@09:30 B (REAEHE)
10:25 283 150.0 2. 888 BE| 1Ri%e10:25 Bz (KRGS
11:15 283 150.0 2.888 el Rige11:15 Bal (REAEESE)
12:00 283 150.0 2.888 el Rige12:00 Bz (REAEHSE)
12:40 283 150.0 2. 888 BE| BRi%e12:40 Bz (GGREAERESE)
13:10 283 150.0 2.888 Bl Rige13:10 Bal (REEESE)
13:40 283 150.0 2.888 S| Rige13:40 Bal (REAEHE)
14:10 283 150.0 2.888 B 1Ri%e14:10 Bz CGGREMEESE)
14:40 283 150.0 2.888 Bl Rige14:40 Bah (REEESE)
15:15 283 150.0 2.888 el Rige15:15 Ba) (REAEHSE)
15:55 283 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:40 283 150.0 2. 888 BE| 1Ri%e16:40 Bz (RF{EREE)
Bit] 4528.0 (16%%) 2400.0 3EUHKEC: 2130, PH: 5.6

FERRNEREEFEEART (184.0 : 147.0), AgEHF—RE XAH5
PRIALBRIERE147.0 ml.

WREY S RFHRPH 5.6, HTHEARNAZEBEEEPH, BFahiAE
[E);%EC 5840.0 K5, ZEiFBIKECAEZ hiEE R

HE[E]RECE (1887.0 vs 5840.0) 5

FREVEIN S K IKEC 2126.0



P3-15_0, Day=71 (2025-06-10)

150 Fm————f——————F—————————
VI, VO, FRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 2760 3000
2208 2200 2095 J ,’l_\
100 {1800 "% 2000 ®
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L
20 Warning: lcol [FVI',| "FVO’'] missing 20
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Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtECO=2657.0, setECB=2130 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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29 - ME
T T T T
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m=580,m FV0=0
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31
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m=440, FV0=0
- ME
32 -
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m=630,m FV0=0

34 -
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—o— ME
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m=785,n FV0=0
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i

750 755
m=925,n FV0=0
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i
i
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m=475, FV0=0
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m=675,n FV0=0
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m=825,n FV0=0
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31 A
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m=960,n FV0=0
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33. 0 -
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P3-15

ByiE) | EBIAT (FD) | ERE (EA/4R) | BEREE(B/R) | XS ERE

05:55 283 150.0 2. 888 FE| 1BRi%@05:55 B (kABERSE)
08:15 283 150.0 2.888 |Z=| {Ri&e08:15 Bzl (KREEESE)
09:00 283 150.0 2.888 |Z=| {Ri%e09:00 Bz (KREEHE)
09:45 283 150.0 2.888 |Z=| {Ri%e09:45 Bz (KREAEHSE)
10:55 283 150.0 2.888 |Z=| {Ri&e10:55 Bz (REAEHSE)
11:45 283 150.0 2.888 |Z=| {Riget11:45 Bz (REAEHE)
12:40 283 150.0 2.888 |Z=| Bige12:40 Bzh (GRAEEEE)
13:35 283 150.0 2.888 |[/\i| 1Ri%@13:35 B3h (GREEESE)
14:15 283 150.0 2.888 FA| 1Ri%@14:15 Bzh (GRBERRSE)
14:50 283 150.0 2.888 FE| 1BRi%@14:50 Bz (kBERSE)
15:45 283 150.0 2.888 [ =| 1Rige15:45 Bz CGRAERER)
16:55 283 150.0 2.888 [Z=| 1Ri%e16:55 Bzh (GREEESE)
23t 3396.0 (12%) 1800. 0 3EUHKEC: 2060, PH: 5.6

MEREHLER 2 5 EIEARTT (184.0
ZRIAEBRIERE147.0 ml.

147.0), AlEEHT—RE XA HS

large discrepency for begining water status (330:27.0), set to 330 ml.

REVZWSKRIHRPH 5.6, BT FEFNIEIZPH, EFohiFE

[E&REC 5973.0 K&, iU F{KECAE:&di%E R
FHERECE (1897.0 vs 5973.0) 145
FREVE NS R KEC 2057. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1500 4 —_

P3-15_0, Day=70 (2025-06-09)

150 A

100 A

50

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2600
147 2208

00 Warning: lcol ['FVI',| "FVO'] missing 20

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2571.0, setECB=2060

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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